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BACHELOR OF SCIENCE
(HONOURS) IN BIOCHEMISTRY
(BSCBCH)

Term-End Examination
June, 2025

BBCCT-113 : METABOLISM OF AMINO ACIDS

AND NUCLEOTIDES

Time : 3 Hours Maximum Marks : 70

Note : (i) Attempt any five questions.

(it) All questions carry equal marks.

1. (a) Define nitrogen fixation. Give two

examples each of free living and

symbiotic association. 2+4
(b) Explain Urea cycle. 6
(c) What is nitrogen balance ? 2
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Discuss the regulation of amino acid

synthesis. 7

Describe the structure and function of

catecholamines. 7

Differentiate between the following :
5+5
(1) Salvage pathway and De novo
pathway
(11) Purine degradation and Pyrimidine
degradation

Name any four inhibitors of nucleotide

synthesis. 4

Discuss various steps of heme
degradation. 7

Explain protein-energy malnutrition. 7

N

Describe the steps of IMP synthesis.

Explain the fate of uric acid. 7

Write the causes and symptoms of gout.

7
Elaborate the role of liver in metabolic
integration. 7
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7. (a) What are polyamines ? 5
(b) Compare mono- and di-oxygenases. 4

(c) What are glucogenic and Kketogenic
amino acids ? Give two examples of
each. 5

8. Write notes on any two of the following :
T+7
(a) Alkaptonuria
(b) Homocystinuria

(c) Regulation of ribonucleotide reductase
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